Silver Selection Sprayers
Specification Sheet

SUS0034L0038

« ©
o O

e o O

Rapid

Spray
Equipment

SUS0055L0038 SUS0095L0038

12 Volt Sprayers with Delavan 3.81/min 40psi Pumps

Unit Specifications

Item Description Details
Tank 34 Litre UV stabilised polyethylene tank. Made in USA
55 Litre
95 Litre
Pump Delavan 12 volt Delavan 12UDC positive displacement, self priming. Pressure demand
(3.8 L/min 40psi) switch. Max pressure 40psi (2.8bar). 3.8 L/min open flow. Viton
valves, santoprene diaphragm. Capable of being run dry
Filter Two stage 10mm suction foot filter, basket filter fitted in SUS0034L0038
Lance handle filter
Spray Lance AHLOOY Lightweight chromed aluminium with adjustable spray nozzle and filter
in handle. 850mm overall length with 10mm hose barb connection
AHLOO8 Spray lance, overall length 800mm, max pressure 4 bar (60psi)

to suit SUS0034L0038 with adjustable nozzle

Spray Hose 4.5 metres x 10mm Agricultural spray hose — high flexibility, kink resistant. Coiled hose on SUS0034L0038
Lid 150mm 150mm screw lid with tether and breather

Power Source 12 volt 2.4 metre 12 volt electrical leads with switch and alligator clips

Drain Drain plug Threaded drain bung with cap and seal and anti-loss strap

Compact and easy to use Spot Sprayers - ideal for larger dardens

Freecall 1800 011 000

www.rapidspray.net




Silver Selection Sprayers

Specification Sheet

Tank Specifications

Code Tank Size (Litres) Lendth (mm) width (mm) Height (mm) Weight (kg)
SUS0034L0038 34 475 375 400 6
SUS0055L0038 55 865 390 345 7
SUS0095L0038 95 865 390 435 8
Motor Specifications
Pump Motor Liquid Priming Max Housing Valves Diaphragm Fasteners Weight
Model Temp Capabilities  Pressure (kg)
APDO038 Permanent magnet 43°C 1.2m 40psi Polypropylene Viton Santoprene Stainless 0.57

thermally protected, (2.8 bar) steel & zinc
splash proof plated
Features Pump Performance
= 34litre comes complete with tie down straps - APDOO38 3.8L/min [40[35])
= Tanks calibrated for easy measurement of contents
= Easy cleaning tank design with drain plug 45 (3.1)
= Spray lance clips for secure lance storage 40 (2.8)
= Lid comes complete with anti-loss strap
= Reliable 3.8L/min 40psi pump ideal for spot spraying 85 @4
+ Made in the USA § 30 (2.1)
@ 25(1.7)
I
© 20 (1.4)
=
? 15(1.0)
] .
o 2
10 (0.7)
5(0.3)
0
0 050 0.70 0.80 0.85 0.90
(1.89) (2.65) (3.03) (3.22) (3.41)
Flow — gpm (Ipm)
Pump Dimensions (mm)
3/8”" 9.5mm Mtg Holes: #10 (M5) Screw
Hose Barb Port(s) g &£
Pressure \ |

Demand Switch

81

I

Manual ON/OFF
Switch with
| Protective Cover

18 AWG, Red
Positive Wire
18 AWG, Blk
Negative Wire

4* 114 —=

Freecall 1800 011 000

www.rapidspray.net




Silver Selection Sprayers

Specification Sheet

Parts Breakdown
- SUS0034L.0038 34 LITRE SPOT SPRAYER

Parts List — SUS0034L0038 3
No. Part No. Description Per. Set
1 Tank 34 litre 1
2 3N34 Cap, Garden hose 1
3 W406-U Washer, Garden hose 1
4 E3412 Fitting 3/4" MGHT x 1/2" MNPT 1
5 Not Available Gasket 1
6 TL-6B-GAS Gasket, Tank lid 1
7 ARLP150AT Lid, Tank 1
8 Not Auailable Gasket 1
9 EL12 Fitting, 90 deg, 1/2" MPT x 1/2" HB 1
10 TDS-9GSS Tie down straps (not shown) 1
11 350-005 Clamp, hose 4
12 33-103939 Hose, vinyl 152 mm
13 APDO038 Pump, Delavan 3.8 L/min (40psi) 1
14 33-103126 Screw, machine 10-24 x 5/8 4
15 Not available Strain relief 1
16 Not available Screw 10-24 x 1/2" 2
17 33-103938 Hose, vinyl 3 metres
18 AHLOO8 Wand with filter 1
19,20 CHCLP12MMX2 Clip, gun (pair) 1
21 ATCWLO2412VUSA Harness, wire, SS (not shown) 1
22 SS-MANUAL-MM Manual (not shown) 1

Freecall 1800 011 000

www.rapidspray.net




Silver Selection Sprayers

Specification Sheet

Parts Breakdown
- SUS0055L0038 § SUS0095L0038 — 55 & 95 LITRE SPOT SPRAYERS

/
,.-"' ®
@

Parts List — SUS0055L0038 & SUS0095L0038 — 55 & 95 LITRE SPOT SPRAYERS “

No. Part No. Description Per. Set

1 33-103231 Tank 55 litre 1
33-103230 Tank 95 litre 1
33-103245 Tank 150 litre 1
33-103246 Tank 225 litre 1

2 ARLP150AT Lid, Tank 1
ATCWLO2412VUSA Harness, wire, SS 1
APDO038 Pump, Delavan 3.8 L/min (40psi) 1
APDOO77T10E Pump, Delavan 7.7 L/min (60psi) 1

5 33-103126 Screw, machine 10-24 x 5/8, 3.8 LPM pumps 4
33-103127 Screw, machine 10-24 x 1“, 7.7 LPM pumps 4

6 33-103131 Washer #10, 7.7 LPM pumps only 4

7 A38 Fitting, 3/8"MNPT x 3/8"HB 7.7 LPM pumps 2

8 3204-1407 Hose, rubber, 3/8" 4.5 metres

e] SHC-F Clamp, hose 3

10 33-103121 Strainer, inlet 1

11 AHLOO9 Wand with filter 1

12 CPLPOOSN Nozzle, assembly 1

13 CHCLP12MMX2 Clip, Gun (pair) 1

14 w406-U Washer, Garden hose 1

15 ATPUC20T Cap, Garden hose 1
3204-1407 Hose, rubber, 3/8", intake, 15/55 (G/L) & 25/95 (G/L) tanks 533mm
3204-1407 Hose, rubber, 3/8", intake, 40/150 (G/L) & 60/225 (G/L) tanks 711mm

Freecall 1800 011 000

www.rapidspray.net




